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3% YREE | 2tFEER sipEr | R s
4R 24 7 30 0 29 1 0 4312.09 198,900
5A 27 3 26 4 26 0 1 3,946.35 171,280
6A 22 16 17 6 23 1 0 3,745.36 138,000
1R 9 31 20 2 29 0 0 4,082.64 153,870
8A 26 31 0 5 26 0 0 3,882.56 134,980
9A 28 17 13 2 28 0 0 4,041.45 133,770
108 27 3 27 0 24 3 4 4157.08 212,810
1A 2 30 30 0 28 2 0 4,443.23 175,890
128 11 30 15 5 24 1 1 4,064.05 153,680
1H 26 2 28 2 27 0 2 3,987.06 173,070
2R 15 28 1 12 16 0 0 3,105.47 103,850
3A 18 11 31 3 27 1 0 4,071.17 189,510
= 235 209 238 41 307 9 8 47,838.51 1,939,610
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3% WEEE | FEER siFpEr | R s
4R 30 4 27 0 29 1 0 4,055.42 216,680
5A 27 28 2 3 27 0 1 3,752.87 192,870
6A 18 24 20 0 28 2 0 3,904.35 191,150
1R 5 31 28 0 29 2 0 4,143.49 196,640
8A 30 25 10 0 28 3 0 4,230.25 168,460
9A 30 20 12 0 28 2 0 3,755.17 167,600
108 30 0 31 1 30 0 0 3,968.28 186,220
1A 1 30 29 1 28 1 0 3,997.82 182,910
128 20 30 11 0 29 1 1 4,046.02 219,340
1H 28 4 28 2 23 4 2 4,042.62 128,310
2R 27 13 18 1 24 3 1 3,861.24 178,660
3A 16 26 19 3 26 2 0 3,974.52 192,720
= 262 235 235 11 329 21 5 47,732.05 2,221,560
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\(FEEE | 20FEER | tFEER mﬂi it
47 30 18 15 0 27 3 0 3,921.54 212,146
5H8 20 16 28 1 21 7 2 3,919.43 206,856
6H 19 30 15 0 26 4 0 4,050.90 183,984
7R 11 25 22 5 25 1 0 3,660.95 132,682
8H 31 31 0 0 31 0 0 3,801.66 144,929
9H 28 24 8 2 26 2 0 3,862.84 139,637
10AR 31 0 31 0 31 0 0 4,269.28 193,217
118 11 19 30 1 28 1 0 3,971.23 172,937
12RH 6 30 25 0 29 1 1 3,877.48 167,033
1H 23 5 27 5 19 4 3 3,557.58 166,152
2R 28 9 19 1 26 1 0 3,818.39 192,084
3A 28 0 31 3 28 0 0 3,682.81 202,639
8% 266 207 251 18 317 24 6 46,394.09 2,114,296
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